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rking! Use the back of the page if you run out of space.

l. (5 marks) Calculate
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the value in part (b) to x: e2.

\

)Ò

2. (5 marks) Using integration by substitution, flnd
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3.(I0marks)Findtheareaunderneaththecurve f(ò:|-|Uetweenr:1andx:e2.Todothis,you

will need to:
(a) Draw a graph of the function.
(b) Determine the value of x at which the curve crosses the x-axis (i.e.,.r when /(") :0).
(c) Calculate two definite integrals: the first from *: 1 to the value found in part (b), and the second from
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